AC Units LDK®

RSA200/RSB200 Rubber mounted cartridge units,Eccentric/Setscrew locking

H TYPE SEAL
J TYPE SEAL
RSA200 Series
; Shaft Dia Dimensions{mm) Weight
Bearing No, ; ds (kg)
() | (mm) | D B G| & S Bi | Bz | di G (i) T UNE)
RSA 201 12 M6x1
201-8 12 47 | 1924 12 | 15 6 | 286|135 |286 | 5 1/4-28 0.2
RSA 202 15 M6x1
202-9 9/16 47 | 194 | 12 | 15 6 | 286|135 |286 | 5 1/4-28 0.2
202-10 | 5/8
Ref20 L 47 | 194 | 12 | 15 6 | 286|135 |286 | 5 L 1/4-28 0.2
203-11 | 11/16 ) : - ; B '
RSA 204 20 MBx1
14 | 17 7 1 | 13. # 1/4- 21
izl o 52 | 215 3 35333 | 5 28 0
RSA 205 25 Méx 1
20514 | 7/8
205-15 | 15116 62 22 15 | 18 | 75 | 315|135 381 | 5 1/4-28 0.25
205-16 1
RSA 206 30 M6x1
206-17 | 1-1/16
206-18 | 1-1/8 72 | 238 | 18: | 20 8 | 357|159 |445 | 6 1/4-28 0.39
206-19 | 1-3/16
206-20 | 1-1/4
RSB200 Series
_ Shaft Dia Dimensions(mm) ds Weight
Bearing No. d
: D B C Cc1 s G {mm) (in.UNF) (kg)
(in) | (mm}
RSB 201 12 M5x0.8
501.8 1 47 22 12 15 6.0 4.9 10-32 0.09
RSE 202 15 M5x0.8
202-9 9/16 47 22 12 15 6.0 4.9 0.08
202-10 5/8 10-32
W Ll - | 22 12 15 THE T Lud ™ 0.07
RSE 204 20 MBx1
i1 a7 52 25 14 17 7.0 5.0 11428 0.12
RSB 205 25 M6x1
oes | e
50815 15116 62 27 15 18 7.5 5.5 1/4-28 0.18
205-16 1
RSE 206 30 MBx1
206-17 | 1-1/16
206-18 1-1/8 72 30 16 20 8.0 5.9 1/4-28 0.26
206-19 | 1-3/16
2086-20 1-1/4

=
==
S
g
=
a
T
o
(1]
n
e
=
[(e]
0
o
=]
=




E
5]
o
(2]
o
c
=
[
o
2
-
i=)
=
=
=

LDK® AC Units

RCSA200/RCSB200 Rubber mounted cartridge units,Eccentric/Setscrew locking

ct
C1 c
C
s
6
3% [EE | ds
| ds.
S |
] =
RCSA200 N B | . o . —
i B1 s
9.
Y] B2
J TYPE SEAL
RCSB200 RCSA200 RCSB200
RCSA200 Series
Shaft Dia Dimensions(mm) Weight
Bearing No. i ds (kg)
(in) (mm) D B C C1 S B4 Bz | di G ) )
RCSA201 12 Méx
d04.8 i 643 | 191 | 12 | 254 | & | 286 | 135 | 285 1/4-28 0.2
RCSA202 15 Méx1
2029 | 916 643 | 19| 12 | 254 | 6 | 286 | 135 | 286 1/4-28 0.2
202-10 | 5/8
Méx1
RCSAZQE:_“ —— 7 | 643| 194| 12 | 254 | 6 | 286|135 |286 : 1/4-28 0.2
MBx1
RCS‘“:(?:Q i 20 | 643 | 215| 14 | 254 7 | a1 [125 |23 B 1/4-28 0.21
RCSAZ05 25 M6x1
20514 | 78
20515 | 15116 643 | 22 | 15 | 254 | 75 | 31.5 | 13.5 | 38.1 1/4-28 0.25
20516 | 1
RCSA206 30 M6x1
20617 | 1-1116
206-18 | 1-1/8 79 | 238| 16 | 27 | 8 | 357 | 159 |445 1/4-28 0.39
206-19 | 1-3/186
206-20 | 1-1/4
RCSB200 Series
Shaft Dia Dimensions(mm) ds Weight
Bearing No. 3 o
D B C Ci s G (mm) | (in.UNF) (kg)
(in) (mm)
ResBEt e | 4 12 ] 643 22 12 25.4 6.0 4.9 sl 0.09
RCSB 202 15 M5x0.8
202-9 | 9116 64.3 22 12 25.4 6.0 4.9 0.08
202-10 | 5/8 10-32
s ol el T | GE | = 12 | i | a | R 0.07
HosBa o] e | ™ | 43 25 14 25.4 7.0 5.0 Mex1 /428 0.12
RCSB 205 25 MBx1
205-13 | 13/16
-eval el 8 64.3 27 15 25.4 7.5 55 1/4-26 0.18
205-16 | 1
RCSB 206 30 e
206-17 | 1-1116
206-18 | 1-1/8 79 30 16 27 8.0 59 1/4-28 0.26
206-19 | 1-3/116
206-20 | 1-1/4




AC Units LDK®

RSAPP200/RSBPP200 Rubber cushioned pressed steel pillow blocks,Eccentric/Setscrew locking

RSBPP200 Series
Shaft Dia i i ; . | .
Unit No. d TR ) Bearing | Housing g-fz; Weight
i No. No. (kg)
(in) [(mm)| L i) H| H | Ho| N | A B | S (mm)
RSBFPZ01 RSB201
= 581_3 | | e8| 76| 254 3 |504| 95| 30 | 22 | & |Remsots| PP20a | M8 | o019
RSB ool 58 | ™ | 98 | 76 | 254 3 | 504 o5 30 | 22 [ 6 [RSB202 f ppaos | M8 | 018
RSBPP203 17 RSB203
il TiE 9 | 76 | 254 | 3 | 504 ( 95| 30 | 22 [ 6 [RSE203 | ppa | M8 | 017
RSBPP20 vl e | 2 [ 108 | 88 [ 286 4 [ 65| 15| 32 [ 25 | 7 [RSB204 [ ppaos | mao | o025
RSBPP 205 25 RSB205
205-14) 7/8 RSB205-14
1l dons 17 | 95 | 333 | 4 | e63| 15| 38 | 27 | 75 |RSE2061) ppagg | mi0 | 035
205-186 1 RSB205-16
RSBPP206 30 RSB206
206-18| 1-1/8 RSH206-18
206-19] 1.316 130 | 106 | 397 | 5 | 782 | 15| 43 | 30 | 8 |[Rooaoel®l PP207 | M10 | 046
206-20) 1.1/4 RSB206-20

RSAPP200 Series
Unit No. Shat& i Dienisions (o) Bearing | Housing SB?::; Weight
; : No. ki
() [mm)[ C [ J [ H] Hi[H [ NA][B[s | " o | (mm) | &8
ROAPPZY e | 12 | ™ | o8 | 76 | 254| 3 | 504 | 05 | 30 | 286 | 6 [RSAZ!,| PPaos | M8 | 03 =
R AP o0l 58 | ™ |98 | 76 [ 254| 3 | 504 [ 95 | 20 | 286 6 [R54202 [ proos [ M8 | 03 g
RSAPP203 17 RSA203 s
- . 98 | 76 | 254 | 3 [504 |95 | 30 | 286 6 [RSA203 | ppoo4 | M8 | 03 g
RSAPP204 20 RSA204 =
20412 34 108 | 8 | 286 | 4 |565 | 15| 32 | 31 | 7 |R3A204 | PP205 | M10 | 0.34 a
RSAPP 205 25 RSA205 :
205-14| 7/8 17 | 95 | 333 | 4 | 683 | 115 | 38 | 315 | 7.5 |RSAZ05-14| ppogg | M10 | 042 @
205-15| 15/16 Egﬁgg-z b
205-16, 1 - =.
RSAPP206 0 RSAZ06 @
20619| 1.3/16 130 | 108 | 397 | 5 | 782 | 15 | 43 | 357 [ 8 [SSlPCEol PP20T | M0 | 059 3
206-20] 1-1/4 RSA206-20 3






